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QUESTION 1

The current user wants to produce a list of all user privileges she has been granted. Which table or view can be queried
to produce the desired result? 

A. SYSCAT.DBAUTH 

B. SYSIBMADM.GRANTS 

C. SYSIBMADM.PRIVILEGES 

D. SYSCAT.USER_TAB_PRIVS 

Correct Answer: A 

 

 

QUESTION 2

Which of the following SQL statements will remove all rows from the table T1? (Choose two.) 

A. DELETE FROM t1 

B. DELETE* FROM t1 

C. DELETE* TABLE t1 

D. TRUNCATE TABLE t1 IMMEDIATE 

E. TRUNCATE TABLE t1 

Correct Answer: AB 

 

QUESTION 3

Which of the following statements will successfully create a table that scores index data in a different table space than
the table data? 

A. CREATE TABLE t1 (c1 INT, c2 INT); 

B. CREATE TABLE t1 (c1 INT, c2 INT) IN TS1 INDEX IN TS2; 

C. CREATE TABLE t1 (c1 INT, c2 INT) IN TS1 INDEX IN TS1; 

D. CREATE TABLE t1 (c1 INT, c2 INT) DATA IN TS1 INDEX IN TS2; 

Correct Answer: B 
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QUESTION 4

What is the maximum precision for the DECIMAL data type? 

A. 7 

B. 15 

C. 23 

D. 31 

Correct Answer: D 

A decimal number is a packed decimal number with an implicit decimal point. The position of the decimal point is
determined by the precision and the scale of the number. The scale, which is the number of digits in the fractional part
of the number, cannot be negative or greater than the precision. The maximum precision is 31 digits. 

Reference https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/intro/src/tpc/
db2z_numericdatatypes.html__ 

 

QUESTION 5

Which of the following editions of DB2 include support for Federation with Oracle database? 

A. DB2 Express-C 

B. DB2 Developer Edition 

C. DB2 Enterprise Server Edition 

D. DB2 Workgroup Server Edition 

Correct Answer: C 
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